2011 MATHSMIND YEAR 10 QUESTIONS


	QUESTION ONE

How many numbers are there in the following number sequence?
    1.11,  1.12,  1.13, ...,  9.98,  9.99?               


	ATTEMPT 1   
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	


	QUESTION TWO
A block of seats at the Indianapolis grand prix contains 25 seats in each row and 40 rows.                                                                                                                                     [image: image1.wmf]
There are 64 blocks of seats. 

If 
[image: image2.wmf] ,1-2. of the blocks are 
[image: image3.wmf],3-4. full, 
[image: image4.wmf],1-4. of the blocks are 
[image: image5.wmf] full and ,1-4.
[image: image6.wmf] of the blocks are 
[image: image7.wmf],1-10. full,

how many people are attending the grand prix?

	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	

	
	
	
	
	

	QUESTION THREE

What is the area of the shaded region?
[image: image8.jpg]i}





	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	


	QUESTION FOUR

This square is made up of 9 smaller squares in three rows of three and two diagonals. 
[image: image9.jpg]



How many triangles of any size are there in this shape?                 

	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	

	
	
	
	
	

	QUESTION FIVE
What is the area of this shape? ( figure NOT to scale)
[image: image15.png]
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                                           4cm

             3cm                                          

                                                                      12cm

                                           13cm


	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	

	
	
	
	
	

	QUESTION SIX
A $2 coin stands 2.5mm high. Coins are assembled in a warehouse 2700 stacks wide by 54000 stacks long. If the warehouse contains $1 trillion ($1012), how high are the stacks of coins? Answer to the nearest centimetre.   
[image: image10.png]



                                           

	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	


	QUESTION SEVEN

Each of the equal sides of an isosceles triangle is 5 cm longer than the third side. The perimeter of the triangle is 31 cm. Find the length of each equal side.     


	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	


	QUESTION EIGHT

Gollum ate a total of 350 chocolate fishes over a period of 10 weeks. Each week he ate six more chocolate fishes than in the previous week. How many chocolate fishes did Gollum eat in the first week?       


	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	

	
	
	
	
	

	QUESTION NINE

The candle shown on the left takes 3min 18sec to fully burn. How many SECONDS will it take the candle on the right to fully burn?         
                                 X                                    X/3      ,𝑋-3.
               Y                                                         

                                                                3Y  



	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	


	QUESTION TEN

There are 75,000 vehicles crossing the Auckland harbour bridge every day during an 8 hour period across 5 lanes. If one more lane were added and the traffic flow increased to 100,000 vehicles, how MUCH LONGER would it take to move this volume of traffic?

Answer to the nearest minute.   [image: image11.jpg]





	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	

	
	
	
	
	

	QUESTION ELEVEN

If           20AB4                 What is the value of  100 – B x A?

           X         8

             165552            


	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	


	QUESTION TWELVE




Jim had a road bike. He found that for every 3 complete revolutions of the pedals,the rear wheel rotated 14 complete revolutions. If the rear wheel has a radius of 34cm, and Jim travels 14km, how many rotations of the PEDALS does Jim make? 
Answer to the nearest revolution.[image: image12.wmf]

	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	

	
	
	
	
	

	
QUESTION THIRTEEN
The large square is 4 units long by 4 units wide. What percentage of 
this large square is the area of the four shaded “leaves”?  
 Answer to the nearest percentage.
  

	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	


	
QUESTION FOURTEEN

C is the centre of the circle and F is a point on the circle such 
that BCDF is a 2cm by 3cm rectangle. What is the area of the 
shaded region? (in cm2 to 1 decimal place). 


	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	

	
	
	
	
	

	
QUESTION FIFTEEN

A cylinder 75 cm high has a circumference of 20 cm. A string makes exactly 5 complete turns round the cylinder while its two ends touch the cylinder's top and bottom. How long is the string in cm?



	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	


	QUESTION SIXTEEN

A house is decorated with 700 Christmas tree lights. 

15% of these lights are green. Henry decided that the display would be improved if he increased the 15% green lights to 30% green lights.

How many green lights must be ADDED so that 30% of all the Christmas lights are now green? 


	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	QUESTION SEVENTEEN

Farmer Jones planned to build a fence so that the posts would be exactly 2 metres apart but found he had five posts too few to build it this way. By placing the holes 3 metres apart, he had precisely the right number of posts for the fence. How long was the fence? 


	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	


	QUESTION EIGHTEEN
A man sets off from home on his daily walk at 5km/h.  Usually his dog accompanies him, but today the dog slept in. The dog took off 1.8 hours after his master had left, running at a constant 20km/h to try and catch him up. They both arrived home at exactly the same time. How far did the man walk?  
[image: image13.png]


      


	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	

	
	
	
	
	

	QUESTION NINETEEN

An infinitely recurring decimal like 1.83333…,3333-𝑟. may be written as a FRACTION using the following method: multiply the decimal by 10 then subtract the original decimal number. (i.e. 10X – X = 9X). The result is 9X. Now divide the answer by 9 and you have a fraction (though it may need tidying and simplifying).

Use this method to convert 0.417777… ... to a fraction in its SIMPLEST form.  



	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	

	
	
	
	
	


	QUESTION TWENTY

Lewis mixes 1 pot of white paint with 2 pots of red paint and the resulting colour is pink. He thinks the result is too pink, so he adds another pot of white paint. Looking at the result he thinks it is now not pink enough. Lewis actually wants the shade of pink exactly halfway between what he started with and what he finished with. How many pots of each colour must he add to achieve the desired result?
        

	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	


	Q’n
	ANSWER
	
	Q’n
	ANSWER

	1
	889

	
	11
	46



	2
	29,600
	
	12
	1404 (revolutions)

(revolutions not required)

	3
	6cm2
(units required)
	
	13
	14(%)

(% not required)

	4
	32 triangles
	
	14
	1.1cm2 
(units required)

	5
	36cm2 
(units required)
	
	15
	125(cm)

(cm not required)

	6
	857 cm
	
	16
	150

	7
	12cm
	
	17
	30 meters

(units required)

	8
	8 fish
	
	18
	12 km

(units required)

	9
	66 (seconds)

(units not required)
	
	19
	
[image: image14.wmf]

	10
	53 minutes (longer)
(longer not required)
	
	20
	3 white and 5 red
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